DIVISION WITH A REMAINDER (H - SET 3)

DIVISION WITH 1 T0 10 oo
61 36460 =+ 6 = ) 36931 =+ 10 =
62) 2446 = 4 = M 13270 = 3 =
63 66304 =— 7 = ) 20317 =4 =
61) 26246 = 3 = 6723+ 1=
65 8494 = 2 = ) 6193 =2 =
66 6792 + 1 = s 35475 +6 =
61) STT4 =~ 1 = 2) 11262 + 7 =
65) 80743 = 10 = ) 21874 +5 =
69 37197 =5 = s 3144 -7 =
70) 79438 — 9 = ) 81054 +— 10 =
M 75114 =+ 10 = ) 823 +2 =
2 13010 = 3 = 0 1390 + 3 =
™) 25633 + 7 = 55 59526 + 6 =
™) 27552 +4 = 59 56826 =+ 10 =
5 12664 = 9 = 00) 44753 =7 =

Mathematics: Division - Level 7 - Horizontal - Set 3
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